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iy Banaun epe- Bazana
“4x; - 8, - 2x3 — max,| Z(X) = %, + 33 + x5 — min,
4x)+ x5+ 22328, 3xy+ x3+x326,

8 2%+ xp— x3=6, 23 | - xy + 3%y + x5 = 10,

X - 8%~ x3>-4, %, - 3%+ 23> -6,
%>0,j=1,2,8 %20,j=1,2,3
Z(%) = 4x, + x, + 3x; — max, Z(X) = 2x; + 8% + 213 — max,
4x - xp-2x3=8, 2x)+8x, - 2x3= 2,
9 2 +3x3+ %374, 24 —3x; — 6x, + 3x3 > -5,
31, - xp+ x3<12, 4x,+3x,- x3=38,
%20,j=1,2,3 %,20,j=1,2,3
Z(K) = x, - 8x; - 2x3 — max, Z2(X) = 2, + 2x; - Bxg — min,
3x, + xp-2x5>13, 2%, - 2x, + 33 > 12,

10 x;=38xy+ x3=1, 25 X = xp+ x3>-2,
2+ 225+ 3x3< 11, 2%~ xp+2x3=24,
%>0,j=1,2,3 %>0,j=1,2,3

Z([X) = 3%, + 2x, + 2x3 — min, Z(X) = x; + 2% + 2x3 — min,
3x; + 22, — 2x3 > 11, —xy— xp+dxg<-1,

1 %, — 6x, — 3xg =23, 26 2y = 2%y + 2x3=2,

—xyt xy— 232, X, + 2x, - 223 <6,
%>0,j-1,2,3 %>0,j=1,2,3

Z(X) = 3x, + 2x; + 3x3 — max, Z(X) = 5x; + Txy + 925 — max,
—x = xp+2x3<-2, - xp+ x3=6,

12 —xy+ 22+ x3<4, 27 x - 225~ x3>-8,

x +2x3=2, —2x; + xp+ 2x3 > 16,
2,30,j=1,2,3 %0,/=1,2,3
Z{X) = x; + 2%, + %3 — max, Z(X) = x, + x5 - 4x3 — min,
—xy - X+ 23 < -1, —xy ~ 325+ 223 < -3,
13 Xy +xy+ x5 =8, 28 —xy+2x,+ x3<5,
x +x3<1, x - xp-3x3=1,
%20,j=1,2,8 %20,j=1,2,3
2[X) = 2x, + x; + 2x; — max, Z(X) = 8x, + 2x3 - 3x; — min,
T+ 2y x3>2, X1 - 2% - %3< -6,
14 —2x;+ xp+2x3=2, 29 2x)— X3+ x3<12,

—2x, ~ x,+2x5> 6,
%20,j=1,2,3

22y~ xp—2x3=3,
%>0,j=1,2,3
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Bapuant Bagaua [Bapuant Bagaua
Z(X) = 2%, + 4x, — max, Z(X) = 8%, — x, — min,
~8x, + 2%, <6, , 4x,- 2,30,
+2x, > 10, o
. %)+ 22, % 22, %, <0,
%= 5x,<5, X+ x,<3,
X+ %<4,
2,30, 2,20
2,20, 23>0
Z(X) = 15x; + 10x, — max, Z(X) = 2x; + 3x; — max,
6x,~ x,>3, xy+ 22,32,
-xy + 2%, < 8, T+ 1332,
6 3x; + 2x, < 24, 21 2%+ x> 4,
% - %<8, 2x, - 3x,<0,
X+ 22,32, >0
220, 130
Z(X) = 3x, + 2x, — max, Z(X) = 4x, + 6x, — max,
3x; - %, 30, 4%, - 52,30,
. - x> -2, 3 2x, - 3x,< 0,
42, — 2, < 16, 2x, +3x,> 6,
2x; ~ %, <6, 2%+ x,22
2,20, 20
Z(X) = 2x, + 5x; — min, Z(X) = —x, + 4z, — min,
2x,+ xp54, 2%, - 3x,< 6,
—x+ xp<4, 3x, - 2%, < 6,
8 x; +2x,< 14, 23 2%, + 32,20,
—x;+3x, 25, x+ %21,
EN <4, %20
2,20, 2,20
Z(X) = 2%, — %, — max, Z(X) = x; + 4x5 — min,
—x + %<2, 2, + 31,26,
0 2x, + 3%, > 16, 2 ~2x, +3x,> 6,
%+ x3<10, o+ x3<8,
2%, - x,<8, 2%, - 3x,< 0,
20, >0 x>0, 1,20
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